Maharashtra University of Health Sciences, Nashik Inspection Committee Report for Academic Year 2024-2025 Details of Library

Name of College/Institute : Smt. Vimaladevi Khyalilalji Vagarecha College of Nursing education, Thane west.

Faculty :: Nursing

01	Total Books (Other than Books)	k Bank schem	e)	*	1531
02	Last year purchase				572
03	Invoice & payment details C	opy need to upl	oaded on web site		Uploaded
04	Total Hours Day Library Ope		THE STATE OF THE S		10 Hours
05	Total area available in Librar	The second secon			S MONTH
	List of Journal subscribed C		lanuary 2025 To De		1815 Sq fee
00	National	dirent year		ternational	
06	Printed Hard Copy	Online	Printed Hard Co		Owline
46.	Yes	Yes	Yes	РУ	Online Yes
07	Total Back Volumes of Print	ed Journals Ava	ailable	40	22
08	Separate Reading room facil	ities for staff ar	nd students	20	Yes
09	Provision for Extended Hour Room Facility			ys Reading	Yes after College Hours
10	Library Software Available if	yes attaché do	cuments	и	Yes
11	Provision for Photo Copy in I	Library		6	Yes
12	Provision for Drinking Water	r Facility in Lib	orary	•	Yes
13	Daily Available(at least 02 N	lews Papers) in	library for staff and	students	Yes
14	Book bank facility for needy				Proposed
15	Library orientation program	is arranged for	every year		Yes
16	Collection of competitive exa				Yes
17	Library WEB OPAC				Yes
18	Celebrate birth and death ar	niversary of G	reat Indian Leaders	i.	Yes
19	Washroom Facility in Library		- 4		No
20	Book bank facility for needy a	and SC/ST stud	ents		Proposed
	ATVI				32

Here by I declare all relevant document uploaded are clear and visible on web site & are true as per my best knowledge

Any Other, Please Specify:-

We have Digital Library that includes resources such as Pub Med, semantic Scholars and Educational resources

Sr No	LIBRARY	Particular	Remark
1	Total National Journals Subscribed this year	8	\ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \
2	Total International Subscribed Journals this year	9	8
3	Total Back Volumes of Printed Journals Available	22	10 10 10 10 10 10 10 10
4	Provision for Digital Library	Yes	
5	Reading Room for teacher with at least 80% seating capacity (chairs table)	Yes	
6	Reading Room for students with at least 80% seating capacity of total strength (chairs table)	Yes	
7	Provision for Extended Hour, after College ,Sundays and holidays Reading Room Facility	Yes	
8	Provision for Photo Copy (Xerox) in Library	Yes	
9	Provision for Lockers For Faculty and students	Yes	
10	Provision for Drinking Water Facility in Library	Yes	
11	Daily Available at least 02 News Paper in library for staff and students	Yes	7 0
12	Book bank facility for needy and SC/ST students	Proposed	
13	Library orientation program is arranged for every year	Yes	
14	Collection of competitive exam related books	Yes	
I	Plagiarism Checking Service (Software)	No	ta .
16	Library WEB OPAC	Yes	СОНА
17	Celebrate birth and death anniversary of Great Indian Leaders	Yes	
18	TOTAL HOURS DAY LIBRARY OPEN	10	
19	Washroom Facility in Library	No	

Date: - 10/2/25

Dean/ Principal Stamp & Signature

Balkum Thane 400 608

Shrimati Vimladevi Khyalilalji Vagarecha College of Nursing Education

Library Book Title

Sr no	Title	Author	Total	D-1-	Gross
1	Anatomy	Vishram Singh	Quantity 30	Rate	Amount
2	Human Anatomy	Chaurasia B.D	TOTAL COLUMN TO THE PARTY OF TH	687.1	20613
3	Anatomy and Physiology	Guyton & Hall	40	572.7	22908
4	Clinikal Photographic Dissectorof the Human Body	Loukas	3	1019	3057
	omment histographic bissectorof the Human Body	Loukas	5	1199	5993
5	Ross & Wilson Anatomy and physiology in Health and Illness	Waugh	30	1155	34650
6	Potter and Perry's Fundamentals of Nursing	Sharma	1	1730	1730
7	Jaypee's Nurses Dictionary	Panda un	10	420.8	4208
8	Bailliere's Dictionary	Kaushik	10	369.8	3698
9	Communicative english 4 nurses	Liza Sharma	5	420.8	2104
10	Clinikal Nursing ProceduresThe Art of Nursing Parctice	Annama Jacob	20	1153	23052
11	Sharir Shastra va Sharir Rachna Shastra	Vijaya Halkare	20	240	4800
12	Communicative Health Nursing -1	Prameswari	6	421	2526
13	Textbook of Applied Biochemistry and Nutrition & Dietetics	Harbans lal	5	505.8	2529
14	Pediatric Nursing	Parul Datta	2	637.5	1275
15	nursing	John Sheila	10	590.8	5908
16	Communication and Educational Technology	Sharma Suresh	4	675.75	2703
17	A Text Book of Applied Sociology	Neelam Kumari	10	403.8	4038
18	Essentials of Pediatric Nursing For GNM Students	Sethi	7	400	2800
19	Essentials of Pediatric Nursing	Rimple Sharma	10	892.5	8925
20	Textbook of Medical Physiology	Guyton & Hall	10	1695.8	16958
21	Devidson's Principles and Practice of Medicine	Ralston	5	2320.6	11603
22	Pharmacology For Nurses	Udaykumar	2	591	1182
23	A Guide To Mental Health & Psychiatric Nursing	Sreevani R	10	701.3	7013
24	National Health Programs of India	L. Kishore	1	765	765
25	Kozier & Erb's Fundamentals of Nursing	Berman A	1	1784	1784

na College					
m 26		K.Park	5	1275	6375
- ne 21 =	Disease of ear nose &Throat &Head and Neck Surgery	Dhingra	3	1186	3558
0 202.58		Mathew	10	939.3	9393
295	Textbook of Midwifery and Obstetrical Nursing	Sandeep Kaur	8	930.75	7446
s * 30	Textbook of Midwifery and Obstetrics	Magon	2	671.5	1343
31	Midwifery and Obstetrical Nursing	J B S harma	4	675.75	2703
32	A Textbook of Midwifery and Gynecological Nursing	Neelam Kumari	2	1019	2038
33	Text book of Community Health Nursing -1	Chanagiri Aurasang	20	472.6	9452
34	Nursing Research & Statistics	Sharma	15	701.3	10519.5
35	Lippincott Manual of Nursing Practice	Suresh Sharma	1	2549	2549
36	Manual of Nursing Procedures and Practice	Omayal Achi	2	1317.5	2635
37	The Short Textbook of Medical Microbiology for Nurses	Satish Gupte	5	590.8	2954
38	Principles & Practice of Nursing :NSG Arts Procedures V-I	Sr. Nancy	30	467.5	14025
39	Principles & Practice of Nursing V-II	Sr. Nancy	30	450.5	13515
40	Computer Fundamentals And Applications For Nurses	Shetty	20	238	4760
41	Microbiology for GNM	Arunkumar Murugan	20	210.8	4216
42	Text book of FIRST AID	C Manivannan	20	268.6	5372
43	Text book on Food &Nutrition for Nurses	Queen Mary Machender	20	306	6120
44	Text Book of Applied Sociology & Psychology	Prakash p	4	505.75	2023
45	A Text Book of Community Health Nursing -1	Neelam Kumari	10	420.8	4208
46	A Text Book of Community Health Nursing -2	Neelam Kumari	5	420.8	2104
47	Fundamental Of Nursing	Maninder Kaur	5	828.8	4144
48	Prathomopchar	Vimal Thakkar	15	202.8	3042
49	Aharshastra	Vimal Thakkar	10	148.2	1482
50	Manasshatra	Vijaya Halkare	20	140.4	2808
51	Sukshmjiv Shastra	Vijaya Halkare	20	39	780
52	Samajshastra Paricharikansathi	Kusum Samant	20	140.4	2808
53	Samajik Aarogya Paricharya	Kusum Samant	15	273	4095
54	Mosby's2022 Nursing Drug Reference	Skidmore	1	1488	1488
55	Anatomy and Physiology for Nurses	Watson	1	2316	2316
56	Text book of Medical -Surgical Nursing	Brunners & Suddharth	6	1274.5	7647 /

1	arecha	College	OF
I Van		in	
yalila Malila		10 608 10 608	
1		000	
11/2	PWIA.	ims }	

57		CHLL	- 14-01 01 20020		
58	Textbook of Nutrition	Gill k k	3	506	151
59	Students	Varinder Kaur	4	335.75	134
// 60	Applied Psychology For Nurses First Semester	Vipin Vageriya	20	880.6	1761
61	Nursing Foundation -1 Semester	Bhaskara Raj	15	391	5865
62	Nursing Foundation - 2 Semoster	Bhaskara Raj	20	391	7820
63	Textbook of Applied Biochemistry For BSC Nursing Second	Bhaskara Raj	20	499.8	9996
64	Second Semester	Dr sherin Varghese	15	306	4590
65	Communicative English	DR Queen Machender	20		
66	Textbook of Applied Sociology	Dr Padma Vathi	15	343.4	6868
67	Annlied Anatomy & Rhair I	Ganesh P.	15	119	1785
68	Applied Anatomy & Physiology	Garg Krishna	5	459	6885
69	Essentials of applied Sociology for BSC Nursing	Verma Mamta	15	906.75	4533.7
70	Textbook of Nursing Foundations	Goyal Harindarjeet	20	321.75	4826.2
71	Handbook of Applied Biochemistry Nutrition & Dietetics	Nayak Shivananda	Contract of the second	812.5	16250
72	Textbook of Applied Microbiology Textbook Adult Health No.	Dhir Anju	15	595	8925
73	Textbook Adult Health Nursing Pediatric Nursing	Ukande Usha.	10	581.75	5817.5
74	Teythook of Montal III III (Datta Parul.	20	843.375	33735
75	Textbook of Mental Health / psychiatric Nursing	Prakash .P	20	766.5	15330
	Textbook of Educational Technology Nursing Education	Bhardwaj Urmila	15	733.65	14673
76	Nursing	Jacob Annamma.		321.75	4826.25
77	DC Dutta Textbook Of Gynecology	Konar Hiralal	5	976.5	4882.5
78	Textbook of Health Nursing Informatics & Technology	Kaur Arashgeet	10	896.25	8962.5
79	Education		10	324.35	3243.5
80	Applied Psychology for Nurses	Ghai Sandhya	5	1231.75	6158.75
	DC Dutta Textbook of Obstetrics Including Perinatology 8	Bhatia	15	486.5	7297.5
81	Contraception	N			10010
82	Concise Course in Medical Surgical Nursing VOL -I	Konar Hiralal	10	1121.25	11212.5
83	Concise Course in Medical Surgical Nursing VOL II	Ansari Javed	20	1599.2	31984
	Wedical Surgical Nursing 2 VOL SET (VOL -1 -10 BOOK)(VOL	Ansari Javed	20	1519.2	30384
84	2=10 BOOK)	Agarwal Preeti			
		= to (4) = 1	20	280	5600

Marail

Principal
Smt. Vimaladevi Khyalilalji Vagharecha
College of Nursing Education
Balkum, Thane - 400 608.

1/20	gharec	ha Co	llege o	X
illellie.	Bal	Kun	1	書
Si Kh	T	00 el	18.	
Mes.	PUIN 7	ws.	* NO	Z
	200	-		_

85	Medical Surgical Nursing -I FOR GNM	M P Sharam	Harris III		
86 87 88 89 90	Medical Surgical Nursing -II FOR GNM		5	599.25	2996.25
87	Mental Health Nursing I&II FOR BSC NURSING STUDENTS	M P Sharam	5	674.25	3371.25
88	IMental Health Nursing	Pareek Bharat	20	580	11600
89	Psychiatric and Mental Health Nursing	Kumari Eleena	5	346.5	1732.5
90	A Text book of Child Health Nursing	Thresia M T	10	252	2520
91	Child Health Nursing	Gomathi S	20	658.75	13175
92	Textbook of Child Health Nursing	Prema Ranjani	5	468	2340
93	Essentials of Medical Pharmacology	Padmaja A	5	976.5	4882.5
94	Textbook of Ophthalmology	Tripathi K D	10	1295	12950
95	Medical Surgical Nursing	Nema HV	2	1046.5	2093
96	Essentials of Biochemistry	Ignatavicius Donna D	2	4851	9702.24
97	Handbook of Food and Nutrition	Satyanarayana U	10	591.5	100000000000000000000000000000000000000
98	Nursing Informatics	Swaminathan	10	396	5915 3960
99	Fundamentals of Nursing	Ball Marion J	1	9500	Street Street
100	Applied Psychology and Mental Hygiene	Berman Audrey	10		9500
101	Fundamentals of Birds in the state of Birds	Bhatia .B.D	10	1540	15400
102	Fundamentals of Biochemistry Applied Sociology For Nurses	Deb .A.C		4312	4312.5
103	Nutrition And Dietetics	Indrani T K	10	689.5	1379
104	Handbook of Instruments	Joshi Shubhangini A	10	403	4030
105		Kapur M M	10	667.5	6675
106	Nursing Informatics & The Foundation of Knowledge Introduction to Psychology	McGonigle, Dee	7	456.75	4567.5
107	Sociology for Number Co. J.	Morgan Clifford T	5	7610	15219
108	Sociology for Nursing Students	Neeraja KP	10	585	2925
109	Nursing Research	Polit Denise F		580.35	5803.5
110	An Introduction to Sociology	Bhushan Vidya	5	1115.38	5577
111	Pharmacology And Pharmacotherapeutics	Satoskar .R.S	10	476	4760
112	Mosby's 2024 Nursing Drug Reference	Roth Linda Skidmore	10	913.5	9135
113	Applied Nutrition & Dietetics	Sohi Darshan	5	1209	6045
114	Text book of Nursing Management & Leadership	Clement I	10	341	3410
115	Text book of Community Health Nursing -2	Gill K K	5	560	2800
110	Nursing Education Principles and Concepts	Sudha R	10	398.65	3986.5
			5	556.5	2782.5

arbaile

Principal Smt. Vimaladevi Khyalilalji Vagharecha College of Nursing Education Balkum, Thane - 400 608.

Co 116	Principles of Anatomy and physiology	Tortora Gerard J	10	1 2400	1
3/17	Principles and Practice of Nursing Ma	V	10	2428.8	2428
2 17	Principles and Practice of Nursing Management and Administration A Comprehensive Textbook of Midwifery & Gynecological	Vati Jogindra	10	617.5	
118	Nursing Nursing	loook A.	10	617.5	6175.
119	Midwifery for nurses	Jacob Annamma	1		
120	Community Health Nursing -II	Agarwal Preeti	4	1044	4176
121	Textbook of nursing education	Agarwal Preeti	10	550	5500
122	Nursing Advision	Neeraja K P	10	340	3400
123	Nursing Administration	Basavanthappa B T	10	612	6120
	Midwifery and Gynecological Nursing	Bhaskar Nima	5	1436.4	7182
124	Community Health Nursing-I	Gill .K.K	10	1046.25	10462.5
125	Fundamentals of Nursing	O CONTRACTOR	7	416.5	2915.5
126	Fundamentals of Nursing	Potter Patricia A	5	7590	37950
127	Anatomy & Physiology:	Taylor Carol	8	8190	65520
128	Textbook of Health / Nursing Informatics & Technology:	Chaurasia's B D	1	0	0
129	Solved / Model Papers Nursing Foundations:	Kaur Arashgeet	1	0	0
130	Textbook of Nursing Foundation:	Joseph Jaison	1	0	0
131	Applied Psychology and Mental Hygiene for Nurses:	Kathwal Jyoti	1	0	0
132	Career English for Nurses:	BHATIA	1	0	
133	Textbook of Applied Biochemistry and Nutrition & Dietetics:	Rose Selva	1	0	0
134	Textbook of Microbiology for Nurses:	Lal Harbans	1	0	0
135	Target High Next Nursing Decode:	Ananthanarayan	1	0	0
136	Dictionary for Nurses:	Srinivasan Muthuvenkatachalam	1	0	0
137	Nursing Drug Guide2024-2025:	Arora Prerna	1	0	0
138	Textbook of Behavioural Sciences:	Sharma Rakesh	1	0	0
139	Community Health Nursing For GNM	Maheshwari SK	1	5000	0
140	Textbook of Microbiology:	Eenu	1	0	0
141	Textbook of Nutrition For GNM	Gupta Pooja	1	0	0
142	Textbook of Communicative English	Garg Ram Kumar	1	0	0
143	Textbook of Computer Education:	Sharma Shivani	1	0	0
144	Medical Microbiology for GNM students:	Kaur Arashgeet	1	0	0
145	Text Book of Midwifery and Gynecological Nursing:	Bhama Sathya		0	0
		Kaur Sandeep	1	0	0

cua Colla					
IKUM TE	Ultimidative Practical Record Pools	Gill K K			- Marie 2 - Control
hane 148	Practical Record Book of N	Varughese Abey	1	0	0
0 608 148	Cumulative Practical Record Basis	Singh Raghunandan	1	0	0
S 151	Community Health Nursing -I:	Kaur Ramandeep	1	0	0
S 151	Community Health Nursing -II	Kaur Kamaljeet	1	0	0
152	Practical Record Book Child Health Nursing:	Kaur Kamaljeet	1	0	0
153	Practical Record book of Medical Surgical Nursing:	Kumar Deepika R	1	0	0
154	Short Book of ENT Diseases	Jogi Suhail	1	0	0
155	Textbook of Microbiology:	Bhargava K B	1	0	0
156	Disease of ear nose &Throat &Head and Neck Surgery:	Chakraborty P	5	741	3705
157	Human Genetics	Dhingra P L	5	1036	5180
158	Textbook of Pathology	Gangane S D	2	1167	2334
159	Textbook of Microbiology:	Mohan Harsh	5	516.75	2583.7
	Comprehensive Onthalmology Will a	Ananthnarayan and panikar	10	2026.5	20265
160	Comprehensive Opthalmology With Opthalmology Log book plus practical Opthalmology	and partical	10	1121.25	11212.
161	Shaws Textbook of Gynaecology	Khurana A K			
162	Robbins & Cotran Pathologic Basis of Disease 2 Vols	Kumar Sunesh	5	1164.35	5821.75
163	Essentials of Critical Care Nursing	Kumar Vinay	5	1023	5115
164	Review of Postgraduate Pathology	Kuruvilla Jaya	5	2388.75	11943.75
165	Principles of Critical Care	Nayak Ramdas	2	1296.75	2593.5
166		Udwadia Farokh Erach	5	2306.5	11532.5
	Total	Taid I diokii El deli	2	1870	3740
			1531		1072925.99

moic

Principal Smt. Vimaladevi Khyalilalji Vagharecha College of Nursing Education Balkum, Thane - 400 608.

SMT. VIMALADEVI KHYALILALJI VAGHARECHA NURSING COLLEGE

Library Journal

Sr No	Name of Journal
1	Journal of Biochemistry And Molecular Science
2	Journal of Research In Microbiology And Immunology
3	Journal of Research In Human Anatomy and Physiology
4	Journal of Nursing Practice, Management And Education
5	Journal of Midwifery, Women 's Health and Nutrition
6	International Journal of Cardiovascular Nursing
7	International Journal of Pediatric Nursing
8	International Journal of Nursing Critical Care
9	International Journal of Medical Surgical Nursing
10	International Journal of Research in Medical Surgical Nursing
11	Journal of Pharmacology, Toxicology and Therapeutics
12	Journal of Counselling and Family Therapy
13	International Journal of Food ,Nutrition And Dietetics
14	The Nursing Journal of India
15	International Journal of Community Health Nursing
16	International Journal of Psychiatric Nursing
17	International Journal of Nursing Care
18	Inventi Impact Clinical Nursing
19	Inventi Impact Cardiovascular Nursing
20	I -manager's Journal on Nursing
21	Nursing & Midwifery Research Journal
22	Trends in Nursing Administration and Education

Shrimati Vimladevi Khyalilajji Vagarecha Gollege of Nursing Education., THANE